(42.86%)

({
(Prdvalue)

200

/

(100%)

10

30

(83.33%)

3

1/4 1/16 MIC

31

1 (83.78%) ¢l

30

25
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25 3l *

1 25
' 25
4 11756+4693 | 3(20-186 [ 3
19 2350.79+43357 | 3(1518-3200 |
3 9 2, 1
, 1, 1, 1, 1
1, 1 1
2 ) 1) (16
bt (3 ), @ ) B )
( 2) 1
4 2
4
1 2
11
17
1 7 1
( 1 7)
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1 y ) 1
() bact$ fung0 Virusp
9 16 37.40+656 9 2 0 22
(N#= 25) (24-52)
18 7 3512+ 951 0 0 0 0
(N = 25) (21-54)
27 23 36.26+8.46 9 22 0 22
(N = 50) ( )
1 bact=
0 fung =
p virus =
*N= ()
2
25 1
() %
1 8 32
2 4 16
3. 6 2
4, 12 48
5. 8 32
6. 8 32
7 I)* 8 32
1% =

' (PPE) =



12

Paired t-test

5
(P00 (
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1 dDz=

~N oo o1 B W N e

12
2-3
34
4-5
5-6
6-7

(X+SD)

()
7.58+0.46
7.68+0.44
7.95:0.45
8.04 + 0.4
8.1240.44
8.38+0.53
8.59+0.55

oz ( )

1.3420.77
351+ 179
150+ 145
0.99+0.75
311+ 137
261 £1.51

(X+SD)

59



60



(X+SD)

5
Ng 12 5
() ()

13 12.3340.29 13.240.82 NS*
2 3 9.65+ 0.92 8.95 + 0.64 NS
3 3 1155+ 0.15 13.0+ 0.14 NS

#N = .

$Dz=

*N = 0.05

Paired t-test
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13

2 1X106,2X106, 4X106  8X106 |
3 5 '
One Way ANOVA
1X106 2X
106,4X106  8X106 /[ 3 (p>0.05) (
0
2 ! ?
1 1
18
(0>0.05) One Way ANOVA ( )
(0>0.05)

Unpaired t-test 2



(X4SD)

1X106
2X106
AXI0®
8X108

X108
2X108
AX10®
XI0®

LW LW LW W

One Way ANOVA

=

200+ 0
190+ 0.14
19.010
20.0+0.14

N

18.0£0.71

17.7520.35

19.25+ 106

18.0+0.71
NS

0.05

63
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7 (XSD)

Prdvalue#X 100

/
121,56+ 1523 129.34%25.04

(9 16 (11024-152.27) (109.19-195.00)

NS*
12052 £15.33  109.31 £3.69
(18 7) (10466-15660) (105.29-114.19)
15415+ 3114 156.53:21.77
(122.69-228.99)  (123.59-193.06)

NS

145.80+25.43  134.10¢ 1239
(102.97-178.28)  (122.51-154.99)

s Prdvalue =
*NS= 0.05
One Way ANOVA
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Paired t-test

2
(p<0.001)
18
18 2 9
3 ! ] 1
v 116 MC ' 2
(p<0.001)
Paired t-test ( 9
2
e 116
MC 2
(p>0.05)
Unpaired t-test ( 10)
2 Paired t-test 2
v MC
4 MC
U6 MC 1716 MC ( )
14
MC ' 1

16 MC (<0.005)



MIC
16 MC

1/16 MC
(p>0.05)

(p<0.05)

(p>0.05) (

)

66

(p<0.05)

1/4



(N0=25)

(N=25)

5 Prdvalue =
ON=
*n<0.001 =

*NS=

Prdvalue5 X100

1265442200 1556742491 peO.00L
(109.19-195) (122.69-228.99)

1173841400 1425082292 p<0.0L
(10466:15669)  (L0297-17828)

NS* NS

0,001
Paired t-test
0.05
Unpaired t-test

67



155.67+24.91

142.59+22.92

$Prdvalue =
SNysl/4 =

0 NysL/16 =
p Micol/4 =
A Micol/16 =
A N =

*k —

Paired t-test

Nys 1/4*
140.24+24.64*

129.62425.25*

(X4SD)

Prdvalue$xi00
Nys 1/160

Mico 1/4P

1441442147 137.21+24.87*

133.88+23.77**  126.83+21.65*

4 MC

1/16
14
1/16

MC
MC
MC

0.001

68

Mico 1/16"
141.94+22.29*

129.89+20.95*
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Nys1/43

“+5.4347.73
(*=23)
-12.97+7.64

(N=25)
NS*

5dPrd=

#Nys1/4 =
e Nys1/16 =
p Micol/4 =
A Micol/16 =
IN=
Aoz
*N\S =
Unpaired t-test

(X+SD)
dPrdbx100
Nys 1/169 Mico 1/4P
-11.53+7.68 -18.46+10.65
-8.71+6.72 -15.76+11.05
NS NS
V4 MC
716 MC
U4 MC
16 MC

0.05

69

Mico 116"
-13.73+7.47

-12.70+13.22

NS



10

(x£s )

2
Nysl/41 Nys1/16$ Micol/d#  Micol/16*
Xt -1543+1.73 1153+7.68  -18.46+10.65 -13.73+7.47
| p<0.005¢ | | p<0.005 |
| P<0.05" L
| p<0.s
Nys1/4 Nys1/16 Micol/4 Micol/16
Xt 12974764 -8.71+6.72 -15.76+11.05  -12.70+13.22
| p<0.005 | | NS |
| NS
NS
n NysU/4 = v MC
$Nys1/16 = 16 MC
#Micol/4 = 14 MC
*Micol/16 = 16 MC
0p<0.005 = 0.005
A p<0.05 = 0.05
ANS =

Paired t-test
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